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Goals

e Control and quantification of the theory and model uncertainties
o Explore the limitations of the Sullivan process and single-pion exchange
framework which also can be extended to the kaon structure function
e Kaon structure function projections
e Integration to Fun4All
e Optimization of 2nd IR with different central detector concepts



Update Summary

e Aslsaidlast meeting, | have been updating my generator to allow more dynamic
binning
e Anodd bug has been found through this process
o Only affects the t-distribution
e The output of the generator had to be updated so it could be integrated into the
Fun4All framework
o Theoutputis updated but having issues with EICsmear trying toread it in
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Found one bigissue...thisodd cut at t
htemp

Entries 2529412
Mean -0.0525
Std Dev 0.0229
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My t is calculated by the following equation...
t=(Ppr—Pp)’=Mp+MZ—2P,-Pp
where

Ppris the incident protan {i.e. proton beam)

and the LM is defined by the following...

P, = Pnyrest.Boosted|( )

Purest = PS 15180 acos(cos(B recoit)) [c08(D,,, ot T + 85I, i) U 1+ PS rest€08(Orecoit) Z
- 1/3

PSrest = PS mar(uw) / # unifarm in 3p*2 dp = dip"3), pSMax=0.3, uw = ran3.Uniformi)

co8(Orecoit) = 2ux —1 47y = ran3.Uniform()

Precoit = T(2uy —1) #f uy = ran3.Uniform()
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root -|
gSystem-=Load("libeicsmear.so")
BuildTree("target.dat", ".", -1, "log.txt")
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